1. Let A, B, C, and D be sample space outcomes forming a sample space.  Which one of the following is a legitimate way to assign probabilities to the sample space?

P(A)=0.5; P(B)=-0.4; P(C)=0.1; P(D)=0;                      P(A)=0.5; P(B)=0.4; P(C)=0.1; P(D)=0.1; the sum is 1.1
P(A)=0.5; P(B)=1.4; P(C)=0.1; P(D)=0;                      P(A)=0.5; P(B)=0.3; P(C)=0; P(D)=0.2;

2. Let A, B, C, D, and E be sample space outcomes forming a sample space. Suppose P(A)=0.2, P(B)=0.15, P(C)=0.3, and P(D)=0.2. What is P(E)?  P(E)=1-0.2-0.15-0.3-0.2=  0.15
3. The probability that a student fails STAT 3309 is 0.10. What is the probability that a student passes STAT 3309?
4. A rock concert promoter has scheduled an outdoor concert on July 4th. If it does not rain, the promoter will make $15,000. If it does rain, the promoter will lose $15,000 in guarantees made to the band and other expenses. The probability of rain on the 4th is 0.4. 

Let x denote the promoter’s profit. 

(a) Set up the probability distribution of the random variable x. 

(b) Calculate the mean of x.

(c) Calculate the variance of x. 
5. Thirty percent of all customers who enter a store will make a purchase. Suppose that 6 customers enter the store and that these customers make independent purchase decisions. 

(a) Let X= the number of the six customers who will make a purchase. Write the binomial formula for this situation. 

(b) What is the mean and variance of X?

(c) Calculate the probability that at least one customer makes a purchase. 

6. For an unfair coin the probability to toss a Head is 0.4. Toss the coin 10 times. Let X be the total number of Heads. Identify the distribution of X and calculate P(X=2).

7. The table contains the probability for the number of rainy days in Seattle during the spring.

	X=0
	0
	

	X=1
	0.2
	

	X=2
	0.2
	

	X=3
	0.3
	

	X=4
	0.1
	

	X=5
	0.1
	

	X=6
	0.05
	

	X=7
	0.05
	


   What is the probability that at least 5 days are rainy days?  
What is the probability that only 3 days are rainy days?
